CCNA Discovery Module 5 Exam Picture Descriptions

Refer to the graphic. A user at the workstation cannot connect to the server.

Graphic depicts a small network consisting of a server and workstation connected to a switch. The switch connects to a router. IP configuration is below:

Workstation

IP 192.168.5.34

SM 255.255.255.0

DG 192.168.5.33

Server

IP 192.168.6.35

SM 255.255.255.0

DG 192.168.5.33

Router

192.168.5.33

SM 255.255.255.0

Refer to the graphic. The host requests an IP configuration from the Linksys integrated router

Diagram depicts a small network. A DHCP client (PC) connects to a wireless router that in turn connects to the Internet.

Refer to the graphic. NAT and DHCP are installed on the Linksys integrated router.

Diagram depicts a small network consisting of 2 hosts with a wireless connection to the Linksys router. The router connects to the Internet.

End of exam

